

BID2021-16 REMOVAL OF "SPOILS" STOCKPILED AND STORED EXCAVATED MATERIAL FOR A PERIOD OF ONE (1) YEAR WITH AN OPTION TO EXTEND ONE (1) YEAR FOR THE CITY OF TRENTON, DEPARTMENT OF WATER AND SEWER						
NUMBER OF RESPONDENTS:	6					
NAME OF BIDDER	YAROS LANDSCAPES	CARROLL GROUP INC.	BRITTON INDUSTRIES, INC.	J. VINCH AND SONS, INC.	THE AMBIENT GROUP, LLC	IRELAND CONSTRUCTION GROUP LLC
ADDRESS	359 PRINCETON AVENUE	4 YOUNGS ROAD	227 BAKERS BASIN RAOD	P.O. BOX 5465	2515 GLASSBORO CROSS KEYS ROAD	140 LINE ROAD
CITY, STATE, ZIP	TRENTON, NJ 08619	HAMILTON, NJ 08619	LAWRENCEVILLE, NJ 08648	TRENTON, NJ 08638	WILLIAMSTOWN, NJ 08094	WEST WINDSOR, NJ 08550
CONTACT NAME	ANTHONY YAROS	ERIC CARROLL	DAN CARR	GARY VINCH	SERGIO CARDOSO	MICHAEL IRELAND
TELEPHONE	609-802-5363	609-209-1929	844-274-8866	609-883-3644	856-582-1765	609-426-0525
FAX	N/A	N/A	N/A	609-883-9380	856-582-2114	609-426-8976
E-MAIL	ANTYAROS@AOL.COM	CARROLLCORP1@GMAIL.COM	DCARR@BRITTONINDUSTRIES.COM	JVNICHINC@AOL.COM	SCARDOSO@AMBIENTGROUP.COM	OFFICE@IRELANDCONSTRUCTION.NET
STATEMENT OF OWNERSHIP DISCLOSURE	INCLUDED	INCLUDED	INCLUDED	INCLUDED	INCLUDED	INCLUDED
AFFIRMATIVE ACTION REGULATIONS REQUIRED	INCLUDED	INCLUDED	INCLUDED	INCLUDED	INCLUDED	INCLUDED
MANDATORY EQUAL EMPLOYMENT OPPORTUNITY LANGUAGE EXHIBIT A	INCLUDED	INCLUDED	INCLUDED	INCLUDED	INCLUDED	INCLUDED
ACKNOWLEDGEMENT OF RECEIPT OF ADDENDA	N/A	N/A	N/A	N/A	N/A	N/A
NJ BUSINESS REGISTRATION CERTIFICATE	INCLUDED	REQUIRED FROM AWARDED VENDOR	INCLUDED	INCLUDED	INCLUDED	INCLUDED
EIC	CERT.# CUT OFF EXP. 01/15/2028	REQUIRED FROM AWARDED VENDOR	CERT.#37740 EXP. 11/15/2022	CERT.#22380 EXP. 02/15/2025	CERT.#58000 EXP. 09/15/2024	REQUIRED FROM AWARDED VENDOR
DEBARMENT NOTICE	INCLUDED	INCLUDED	INCLUDED	INCLUDED	INCLUDED	INCLUDED
NON-COLLUSION AFFADAVIT	INCLUDED	INCLUDED	INCLUDED	INCLUDED	INCLUDED	INCLUDED
AMERICANS WITH DISABILITIES ACT OF 1990 LANGUAGE	INCLUDED	INCLUDED	INCLUDED	INCLUDED	INCLUDED	INCLUDED
DISCLOSURE OF INVESTED ACTIVITIES IN IRAN	INCLUDED	INCLUDED	INCLUDED	INCLUDED	INCLUDED	INCLUDED
ETHIC COMPLAINT DISCLOSURE	INCLUDED	INCLUDED	INCLUDED	INCLUDED	INCLUDED	INCLUDED
CITY OF TRENTON RESIDENT EMPLOYMENT POLICY	INCLUDED	INCLUDED	INCLUDED	INCLUDED	INCLUDED	INCLUDED
CERTIFICATE OF INSURANCE	REQUIRED FROM AWARDED VENDOR	REQUIRED FROM AWARDED VENDOR	REQUIRED FROM AWARDED VENDOR	REQUIRED FROM AWARDED VENDOR	REQUIRED FROM AWARDED VENDOR	REQUIRED FROM AWARDED VENDOR
60-DAY EXTENSION COMPLIANCE	YES	YES	YES	YES	YES	YES
COMPLIANCE WITH EMERGENCY SERVICES	YES	YES	YES	YES	YES	YES
REFERENCES	INCLUDED	INCLUDED	INCLUDED	N/A	INCLUDED	
EXCEPTIONS (IF ANY)	NONE	NONE	NONE	NONE	NONE	NONE
GRAND TOTAL FOR PROPOSAL I, II, AND III	SEE ATTACHED BREAKDOWN OF PRICE SHEETS	SEE ATTACHED BREAKDOWN OF PRICE SHEETS	SEE ATTACHED BREAKDOWN OF PRICE SHEETS	SEE ATTACHED BREAKDOWN OF PRICE SHEETS	SEE ATTACHED BREAKDOWN OF PRICE SHEETS	SEE ATTACHED BREAKDOWN OF PRICE SHEETS
FATAL FLAW	NONE	NONE	NONE	NONE	NONE	NONE

CONTRACTS SHALL BE AWARDED BASED ON THE LOWEST RESPONSIBLE AND RESPONSIVE BID FOR EACH ITEM OR BOTH ITEMS. THE ITEMS IN THE CONTRACTS MAY BE AWARDED AS ONE CONTRACT TO ONE CONTRACTOR, TWO SEPARATE CONTRACTS TO ONE CONTRACTOR OR AS TWO SEPARATE CONTRACTS WITH ONE CONTRACT AWARDED TO ONE CONTRACTOR AND THE OTHER CONTRACT AWARDED TO ANOTHER CONTRACTOR.

PROPOSAL PAGE FOR OPTION TO EXTEND YEAR TWO (2)

Submitted by: Anthony Yaras

PROPOSAL I

Company Name: Yaras Landscapes

The undersigned proposes to remove spoil material from the Trenton Water Works yards in accordance with the following:

<u>Item</u>	<u>Description</u>	<u>Units</u>	<u>Quantity</u>	<u>Unit Price</u>	<u>Total Price</u>
1	Wet or Dry Soil	Tons	8,000	<u>\$17.50</u>	<u>\$140,000.00</u>
2	Asphalt and Concrete	Tons	5,000	<u>\$19.50</u>	<u>\$ 97,500.00</u>
Grand Total >>					<u>\$ 237,500.00</u>

PROPOSAL II

The undersigned proposes to remove spoil material from the Trenton Water Works yards in accordance with the following:

<u>Item</u>	<u>Description</u>	<u>Units</u>	<u>Quantity</u>	<u>Unit Price</u>	<u>Total Price</u>
1	Wet or Dry Soil	Tons	8,000	<u>\$17.50</u>	<u>\$140,000.00</u>
Grand Total >>					<u>\$ 140,000.00</u>

PROPOSAL III

The undersigned proposes to remove spoil material from the Trenton Water Works yards in accordance with the following:

<u>Item</u>	<u>Description</u>	<u>Units</u>	<u>Quantity</u>	<u>Unit Price</u>	<u>Total Price</u>
2	Asphalt and Concrete	Tons	5,000	<u>\$19.50</u>	<u>\$ 97,500.00</u>
Grand Total >>					<u>\$ 97,500.00</u>

CONTRACTS SHALL BE AWARDED BASED ON THE LOWEST RESPONSIBLE AND RESPONSIVE BID FOR EACH ITEM OR BOTH ITEMS. THE ITEMS IN THE CONTRACTS MAY BE AWARDED AS ONE CONTRACT TO ONE CONTRACTOR, TWO SEPARATE CONTRACTS TO ONE CONTRACTOR OR AS TWO SEPARATE CONTRACTS WITH ONE CONTRACT AWARDED TO ONE CONTRACTOR AND THE OTHER CONTRACT AWARDED TO ANOTHER CONTRACTOR.

PROPOSAL PAGE FOR YEAR ONE (1)

Submitted by: Anthony Yaros

Company Name: Yaros LandScapes

PROPOSAL I

The undersigned proposes to remove spoil material from the Trenton Water Works yards in accordance with the following:

<u>Item</u>	<u>Description</u>	<u>Units</u>	<u>Quantity</u>	<u>Unit Price</u>	<u>Total Price</u>
1	Wet or Dry Soil	Tons	8,000	<u>\$17.50</u>	<u>\$140,000⁰⁰</u>
2	Asphalt and Concrete	Tons	5,000	<u>\$19.50</u>	<u>\$ 97,500⁰⁰</u>
Grand Total >>					<u>\$237,500.⁰⁰</u>

PROPOSAL II

The undersigned proposes to remove spoil material from the Trenton Water Works yards in accordance with the following:

<u>Item</u>	<u>Description</u>	<u>Units</u>	<u>Quantity</u>	<u>Unit Price</u>	<u>Total Price</u>
1	Wet or Dry Soil	Tons	8,000	<u>\$17.50</u>	<u>\$140,000⁰⁰</u>
Grand Total >>					<u>\$140,000⁰⁰</u>

PROPOSAL III

The undersigned proposes to remove spoil material from the Trenton Water Works yards in accordance with the following:

<u>Item</u>	<u>Description</u>	<u>Units</u>	<u>Quantity</u>	<u>Unit Price</u>	<u>Total Price</u>
2	Asphalt and Concrete	Tons	5,000	<u>\$19.50</u>	<u>\$ 97,500⁰⁰</u>
Grand Total >>					<u>\$ 97,500⁰⁰</u>

CONTRACTS SHALL BE AWARDED BASED ON THE LOWEST RESPONSIBLE AND RESPONSIVE BID FOR EACH ITEM OR BOTH ITEMS. THE ITEMS IN THE CONTRACTS MAY BE AWARDED AS ONE CONTRACT TO ONE CONTRACTOR, TWO SEPARATE CONTRACTS TO ONE CONTRACTOR OR AS TWO SEPARATE CONTRACTS WITH ONE CONTRACT AWARDED TO ONE CONTRACTOR AND THE OTHER CONTRACT AWARDED TO ANOTHER CONTRACTOR.

PROPOSAL PAGE FOR YEAR ONE (1)

Submitted by: Eric Carroll

Company Name: Carroll Group Inc

PROPOSAL I

The undersigned proposes to remove spoil material from the Trenton Water Works yards in accordance with the following:

<u>Item</u>	<u>Description</u>	<u>Units</u>	<u>Quantity</u>	<u>Unit Price</u>	<u>Total Price</u>
1	Wet or Dry Soil	Tons	8,000	<u>\$16.69</u>	<u>\$ 133,520. -</u>
2	Asphalt and Concrete	Tons	5,000	<u>\$ 18.79</u>	<u>\$ 93,950. -</u>
Grand Total >>					<u>\$ 227,470. -</u>

PROPOSAL II

The undersigned proposes to remove spoil material from the Trenton Water Works yards in accordance with the following:

<u>Item</u>	<u>Description</u>	<u>Units</u>	<u>Quantity</u>	<u>Unit Price</u>	<u>Total Price</u>
1	Wet or Dry Soil	Tons	8,000	<u>\$ 16.69</u>	<u>\$ 133,520. -</u>
Grand Total >>					<u>\$ 133,520. -</u>

PROPOSAL III

The undersigned proposes to remove spoil material from the Trenton Water Works yards in accordance with the following:

<u>Item</u>	<u>Description</u>	<u>Units</u>	<u>Quantity</u>	<u>Unit Price</u>	<u>Total Price</u>
2	Asphalt and Concrete	Tons	5,000	<u>\$ 18.79</u>	<u>\$ 93,950. -</u>
Grand Total >>					<u>\$ 93,950. -</u>

CONTRACTS SHALL BE AWARDED BASED ON THE LOWEST RESPONSIBLE AND RESPONSIVE BID FOR EACH ITEM OR BOTH ITEMS. THE ITEMS IN THE CONTRACTS MAY BE AWARDED AS ONE CONTRACT TO ONE CONTRACTOR, TWO SEPARATE CONTRACTS TO ONE CONTRACTOR OR AS TWO SEPARATE CONTRACTS WITH ONE CONTRACT AWARDED TO ONE CONTRACTOR AND THE OTHER CONTRACT AWARDED TO ANOTHER CONTRACTOR.

PROPOSAL PAGE FOR OPTION TO EXTEND YEAR TWO (2)

Submitted by: Eric Carroll

PROPOSAL I

Company Name: Carroll Group Inc.

The undersigned proposes to remove spoil material from the Trenton Water Works yards in accordance with the following:

<u>Item</u>	<u>Description</u>	<u>Units</u>	<u>Quantity</u>	<u>Unit Price</u>	<u>Total Price</u>
1	Wet or Dry Soil	Tons	8,000	<u>\$ 16.69</u>	<u>\$ 133,520. -</u>
2	Asphalt and Concrete	Tons	5,000	<u>\$ 18.79</u>	<u>93,950. -</u>
Grand Total >>				<u>\$ 18</u>	<u>227,470. -</u>

PROPOSAL II

The undersigned proposes to remove spoil material from the Trenton Water Works yards in accordance with the following:

<u>Item</u>	<u>Description</u>	<u>Units</u>	<u>Quantity</u>	<u>Unit Price</u>	<u>Total Price</u>
1	Wet or Dry Soil	Tons	8,000	<u>\$ 16.69</u>	<u>\$ 133,520. -</u>
Grand Total >>				<u>\$ 133,520. -</u>	

PROPOSAL III

The undersigned proposes to remove spoil material from the Trenton Water Works yards in accordance with the following:

<u>Item</u>	<u>Description</u>	<u>Units</u>	<u>Quantity</u>	<u>Unit Price</u>	<u>Total Price</u>
2	Asphalt and Concrete	Tons	5,000	<u>\$ 18.79</u>	<u>\$ 93,950. -</u>
Grand Total >>				<u>\$ 93,950. -</u>	

CONTRACTS SHALL BE AWARDED BASED ON THE LOWEST RESPONSIBLE AND RESPONSIVE BID FOR EACH ITEM OR BOTH ITEMS. THE ITEMS IN THE CONTRACTS MAY BE AWARDED AS ONE CONTRACT TO ONE CONTRACTOR, TWO SEPARATE CONTRACTS TO ONE CONTRACTOR OR AS TWO SEPARATE CONTRACTS WITH ONE CONTRACT AWARDED TO ONE CONTRACTOR AND THE OTHER CONTRACT AWARDED TO ANOTHER CONTRACTOR.

PROPOSAL PAGE FOR YEAR ONE (1)

Submitted by: Kimberly Frost

Company Name: Britton Industries, Inc.

PROPOSAL I

The undersigned proposes to remove spoil material from the Trenton Water Works yards in accordance with the following:

<u>Item</u>	<u>Description</u>	<u>Units</u>	<u>Quantity</u>	<u>Unit Price</u>	<u>Total Price</u>
1	Wet or Dry Soil	Tons	8,000	<u>17.85</u>	<u>\$142,800.00</u>
2	Asphalt and Concrete	Tons	5,000	<u>19.75</u>	<u>\$98,750.00</u>
Grand Total >>					<u>\$241,550.00</u>

PROPOSAL II

The undersigned proposes to remove spoil material from the Trenton Water Works yards in accordance with the following:

<u>Item</u>	<u>Description</u>	<u>Units</u>	<u>Quantity</u>	<u>Unit Price</u>	<u>Total Price</u>
1	Wet or Dry Soil	Tons	8,000	<u>17.85</u>	<u>\$142,800.00</u>
Grand Total >>					<u>\$142,800.00</u>

PROPOSAL III

The undersigned proposes to remove spoil material from the Trenton Water Works yards in accordance with the following:

<u>Item</u>	<u>Description</u>	<u>Units</u>	<u>Quantity</u>	<u>Unit Price</u>	<u>Total Price</u>
2	Asphalt and Concrete	Tons	5,000	<u>19.75</u>	<u>\$98,750.00</u>
Grand Total >>					<u>\$98,750.00</u>

CONTRACTS SHALL BE AWARDED BASED ON THE LOWEST RESPONSIBLE AND RESPONSIVE BID FOR EACH ITEM OR BOTH ITEMS. THE ITEMS IN THE CONTRACTS MAY BE AWARDED AS ONE CONTRACT TO ONE CONTRACTOR, TWO SEPARATE CONTRACTS TO ONE CONTRACTOR OR AS TWO SEPARATE CONTRACTS WITH ONE CONTRACT AWARDED TO ONE CONTRACTOR AND THE OTHER CONTRACT AWARDED TO ANOTHER CONTRACTOR.

PROPOSAL PAGE FOR OPTION TO EXTEND YEAR TWO (2)

Submitted by:

Company Name:

PROPOSAL I

The undersigned proposes to remove spoil material from the Trenton Water Works yards in accordance with the following:

<u>Item</u>	<u>Description</u>	<u>Units</u>	<u>Quantity</u>	<u>Unit Price</u>	<u>Total Price</u>
1	Wet or Dry Soil	Tons	8,000	<u>17.75</u>	<u>\$142,000.00</u>
2	Asphalt and Concrete	Tons	5,000	<u>19.65</u>	<u>\$98,250.00</u>
Grand Total >>					<u>\$240,250.00</u>

PROPOSAL II

The undersigned proposes to remove spoil material from the Trenton Water Works yards in accordance with the following:

<u>Item</u>	<u>Description</u>	<u>Units</u>	<u>Quantity</u>	<u>Unit Price</u>	<u>Total Price</u>
1	Wet or Dry Soil	Tons	8,000	<u>17.75</u>	<u>\$142,000.00</u>
Grand Total >>					<u>\$142,000.00</u>

PROPOSAL III

The undersigned proposes to remove spoil material from the Trenton Water Works yards in accordance with the following:

<u>Item</u>	<u>Description</u>	<u>Units</u>	<u>Quantity</u>	<u>Unit Price</u>	<u>Total Price</u>
2	Asphalt and Concrete	Tons	5,000	<u>19.65</u>	<u>\$98,250.00</u>
Grand Total >>					<u>\$98,250.00</u>

CONTRACTS SHALL BE AWARDED BASED ON THE LOWEST RESPONSIBLE AND RESPONSIVE BID FOR EACH ITEM OR BOTH ITEMS. THE ITEMS IN THE CONTRACTS MAY BE AWARDED AS ONE CONTRACT TO ONE CONTRACTOR, TWO SEPARATE CONTRACTS TO ONE CONTRACTOR OR AS TWO SEPARATE CONTRACTS WITH ONE CONTRACT AWARDED TO ONE CONTRACTOR AND THE OTHER CONTRACT AWARDED TO ANOTHER CONTRACTOR.

PROPOSAL PAGE FOR YEAR ONE (1)

Submitted by: Virginia A. Vinch

Company Name: J. Vinch & Sons, Inc

PROPOSAL I

The undersigned proposes to remove spoil material from the Trenton Water Works yards in accordance with the following:

<u>Item</u>	<u>Description</u>	<u>Units</u>	<u>Quantity</u>	<u>Unit Price</u>	<u>Total Price</u>
1	Wet or Dry Soil	Tons	8,000	<u>\$16.83</u>	<u>\$134,640.-</u>
2	Asphalt and Concrete	Tons	5,000	<u>\$18.83</u>	<u>\$94,150.-</u>
Grand Total >>					<u>\$228,790.-</u>

PROPOSAL II

The undersigned proposes to remove spoil material from the Trenton Water Works yards in accordance with the following:

<u>Item</u>	<u>Description</u>	<u>Units</u>	<u>Quantity</u>	<u>Unit Price</u>	<u>Total Price</u>
1	Wet or Dry Soil	Tons	8,000	<u>\$19.00</u>	<u>\$152,000.-</u>
Grand Total >>					<u>\$152,000.-</u>

PROPOSAL III

The undersigned proposes to remove spoil material from the Trenton Water Works yards in accordance with the following:

<u>Item</u>	<u>Description</u>	<u>Units</u>	<u>Quantity</u>	<u>Unit Price</u>	<u>Total Price</u>
2	Asphalt and Concrete	Tons	5,000	<u>\$21.00</u>	<u>\$105,000.-</u>
Grand Total >>					<u>\$105,000.-</u>

CONTRACTS SHALL BE AWARDED BASED ON THE LOWEST RESPONSIBLE AND RESPONSIVE BID FOR EACH ITEM OR BOTH ITEMS. THE ITEMS IN THE CONTRACTS MAY BE AWARDED AS ONE CONTRACT TO ONE CONTRACTOR, TWO SEPARATE CONTRACTS TO ONE CONTRACTOR OR AS TWO SEPARATE CONTRACTS WITH ONE CONTRACT AWARDED TO ONE CONTRACTOR AND THE OTHER CONTRACT AWARDED TO ANOTHER CONTRACTOR.

PROPOSAL PAGE FOR OPTION TO EXTEND YEAR TWO (2)

Submitted by: Virginia A. Vinch
PROPOSAL I

Company Name: J. Vinch + Sons, Inc.

The undersigned proposes to remove spoil material from the Trenton Water Works yards in accordance with the following:

<u>Item</u>	<u>Description</u>	<u>Units</u>	<u>Quantity</u>	<u>Unit Price</u>	<u>Total Price</u>
1	Wet or Dry Soil	Tons	8,000	<u>\$17.53</u>	<u>\$140,240.-</u>
2	Asphalt and Concrete	Tons	5,000	<u>\$19.53</u>	<u>\$97,650.-</u>
Grand Total >>					<u>\$237,890.-</u>

PROPOSAL II

The undersigned proposes to remove spoil material from the Trenton Water Works yards in accordance with the following:

<u>Item</u>	<u>Description</u>	<u>Units</u>	<u>Quantity</u>	<u>Unit Price</u>	<u>Total Price</u>
1	Wet or Dry Soil	Tons	8,000	<u>\$20.00</u>	<u>\$160,000.-</u>
Grand Total >>					<u>\$160,000.-</u>

PROPOSAL III

The undersigned proposes to remove spoil material from the Trenton Water Works yards in accordance with the following:

<u>Item</u>	<u>Description</u>	<u>Units</u>	<u>Quantity</u>	<u>Unit Price</u>	<u>Total Price</u>
2	Asphalt and Concrete	Tons	5,000	<u>\$22.00</u>	<u>\$110,000.-</u>
Grand Total >>					<u>\$110,000.-</u>

CONTRACTS SHALL BE AWARDED BASED ON THE LOWEST RESPONSIBLE AND RESPONSIVE BID FOR EACH ITEM OR BOTH ITEMS. THE ITEMS IN THE CONTRACTS MAY BE AWARDED AS ONE CONTRACT TO ONE CONTRACTOR, TWO SEPARATE CONTRACTS TO ONE CONTRACTOR OR AS TWO SEPARATE CONTRACTS WITH ONE CONTRACT AWARDED TO ONE CONTRACTOR AND THE OTHER CONTRACT AWARDED TO ANOTHER CONTRACTOR.

PROPOSAL PAGE FOR YEAR ONE (1)

Submitted by: Sergio Cardoso
PROPOSAL I

Company Name: The Ambient Group,
LLC

The undersigned proposes to remove spoil material from the Trenton Water Works yards in accordance with the following:

<u>Item</u>	<u>Description</u>	<u>Units</u>	<u>Quantity</u>	<u>Unit Price</u>	<u>Total Price</u>
1	Wet or Dry Soil	Tons	8,000	\$29.00	\$232,000.00
2	Asphalt and Concrete	Tons	5,000	\$30.00	\$150,000.00
Grand Total >>					<u>\$382,000.00</u>

PROPOSAL II

The undersigned proposes to remove spoil material from the Trenton Water Works yards in accordance with the following:

<u>Item</u>	<u>Description</u>	<u>Units</u>	<u>Quantity</u>	<u>Unit Price</u>	<u>Total Price</u>
1	Wet or Dry Soil	Tons	8,000	\$29.00	\$232,000.00
Grand Total >>					<u>\$232,000.00</u>

PROPOSAL III

The undersigned proposes to remove spoil material from the Trenton Water Works yards in accordance with the following:

<u>Item</u>	<u>Description</u>	<u>Units</u>	<u>Quantity</u>	<u>Unit Price</u>	<u>Total Price</u>
2	Asphalt and Concrete	Tons	5,000	\$30.00	\$150,000.00
Grand Total >>					<u>\$150,000.00</u>

CONTRACTS SHALL BE AWARDED BASED ON THE LOWEST RESPONSIBLE AND RESPONSIVE BID FOR EACH ITEM OR BOTH ITEMS. THE ITEMS IN THE CONTRACTS MAY BE AWARDED AS ONE CONTRACT TO ONE CONTRACTOR, TWO SEPARATE CONTRACTS TO ONE CONTRACTOR OR AS TWO SEPARATE CONTRACTS WITH ONE CONTRACT AWARDED TO ONE CONTRACTOR AND THE OTHER CONTRACT AWARDED TO ANOTHER CONTRACTOR.

PROPOSAL PAGE FOR OPTION TO EXTEND YEAR TWO (2)

Submitted by: Sergio Cardoso

Company Name: The Ambient Group,
LLC

PROPOSAL I

The undersigned proposes to remove spoil material from the Trenton Water Works yards in accordance with the following:

<u>Item</u>	<u>Description</u>	<u>Units</u>	<u>Quantity</u>	<u>Unit Price</u>	<u>Total Price</u>
1	Wet or Dry Soil	Tons	8,000	\$30.00	\$240,000.00
2	Asphalt and Concrete	Tons	5,000	\$31.00	\$155,000.00
Grand Total >>					\$395,000.00

PROPOSAL II

The undersigned proposes to remove spoil material from the Trenton Water Works yards in accordance with the following:

<u>Item</u>	<u>Description</u>	<u>Units</u>	<u>Quantity</u>	<u>Unit Price</u>	<u>Total Price</u>
1	Wet or Dry Soil	Tons	8,000	\$30.00	\$240,000.00
Grand Total >>					\$240,000.00

PROPOSAL III

The undersigned proposes to remove spoil material from the Trenton Water Works yards in accordance with the following:

<u>Item</u>	<u>Description</u>	<u>Units</u>	<u>Quantity</u>	<u>Unit Price</u>	<u>Total Price</u>
2	Asphalt and Concrete	Tons	5,000	\$31.00	\$155,000.00
Grand Total >>					\$155,000.00

CONTRACTS SHALL BE AWARDED BASED ON THE LOWEST RESPONSIBLE AND RESPONSIVE BID FOR EACH ITEM OR BOTH ITEMS. THE ITEMS IN THE CONTRACTS MAY BE AWARDED AS ONE CONTRACT TO ONE CONTRACTOR, TWO SEPARATE CONTRACTS TO ONE CONTRACTOR OR AS TWO SEPARATE CONTRACTS WITH ONE CONTRACT AWARDED TO ONE CONTRACTOR AND THE OTHER CONTRACT AWARDED TO ANOTHER CONTRACTOR.

PROPOSAL PAGE FOR YEAR ONE (1)

Submitted by: Mike Ireland

Company Name: Ireland Construction

PROPOSAL I

The undersigned proposes to remove spoil material from the Trenton Water Works yards in accordance with the following:

<u>Item</u>	<u>Description</u>	<u>Units</u>	<u>Quantity</u>	<u>Unit Price</u>	<u>Total Price</u>
1	Wet or Dry Soil	Tons	8,000	<u>17.75</u>	<u>142,000.00</u>
2	Asphalt and Concrete	Tons	5,000	<u>19.85</u>	<u>99,250.00</u>
Grand Total >>		<u>241,250.00</u>			

PROPOSAL II

The undersigned proposes to remove spoil material from the Trenton Water Works yards in accordance with the following:

<u>Item</u>	<u>Description</u>	<u>Units</u>	<u>Quantity</u>	<u>Unit Price</u>	<u>Total Price</u>
1	Wet or Dry Soil	Tons	8,000	<u>19.75</u>	<u>158,000.00</u>
Grand Total >>		<u>158,000.00</u>			

PROPOSAL III

The undersigned proposes to remove spoil material from the Trenton Water Works yards in accordance with the following:

<u>Item</u>	<u>Description</u>	<u>Units</u>	<u>Quantity</u>	<u>Unit Price</u>	<u>Total Price</u>
2	Asphalt and Concrete	Tons	5,000	<u>22.85</u>	<u>114,250.00</u>
Grand Total >>		<u>114,250.00</u>			

CONTRACTS SHALL BE AWARDED BASED ON THE LOWEST RESPONSIBLE AND RESPONSIVE BID FOR EACH ITEM OR BOTH ITEMS. THE ITEMS IN THE CONTRACTS MAY BE AWARDED AS ONE CONTRACT TO ONE CONTRACTOR, TWO SEPARATE CONTRACTS TO ONE CONTRACTOR OR AS TWO SEPARATE CONTRACTS WITH ONE CONTRACT AWARDED TO ONE CONTRACTOR AND THE OTHER CONTRACT AWARDED TO ANOTHER CONTRACTOR.

PROPOSAL PAGE FOR OPTION TO EXTEND YEAR TWO (2)

Submitted by: *Mike Ireland*

Company Name: *Ireland Construction*

PROPOSAL I

The undersigned proposes to remove spoil material from the Trenton Water Works yards in accordance with the following:

<u>Item</u>	<u>Description</u>	<u>Units</u>	<u>Quantity</u>	<u>Unit Price</u>	<u>Total Price</u>
1	Wet or Dry Soil	Tons	8,000	<u>18.66</u>	<u>149,280.00</u>
2	Asphalt and Concrete	Tons	5,000	<u>20.85</u>	<u>104,250.00</u>
Grand Total >>					<u>253,530.00</u>

PROPOSAL II

The undersigned proposes to remove spoil material from the Trenton Water Works yards in accordance with the following:

<u>Item</u>	<u>Description</u>	<u>Units</u>	<u>Quantity</u>	<u>Unit Price</u>	<u>Total Price</u>
1	Wet or Dry Soil	Tons	8,000	<u>20.66</u>	<u>165,280.00</u>
Grand Total >>					<u>165,280.00</u>

PROPOSAL III

The undersigned proposes to remove spoil material from the Trenton Water Works yards in accordance with the following:

<u>Item</u>	<u>Description</u>	<u>Units</u>	<u>Quantity</u>	<u>Unit Price</u>	<u>Total Price</u>
2	Asphalt and Concrete	Tons	5,000	<u>23.85</u>	<u>119,250.00</u>
Grand Total >>					<u>119,250.00</u>